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WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-III Examination, 2019

SANSKRIT

PAPER-SANA-VII
Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

UNIT-I
(Full Marks-60)

1. JENTATT g THATTR JaIHq — 13x2 =26
(a) T ATIHHTIEVM ? AETORING Uewd AN =i | 2+8+3=13
(b) BRUTIETTT fITsThed SeTuNeTeRvmel BRUMET: Gfaqreriry | 4+9 =13
(c) T TTa PTRYATIH ? hUs: SHAYRA Jadif faeremm | 5+8=13

(d) JdUEIfRISHROTgEdD THE: STATBMHITURE I aTSTIdH |

2. efaRady gl sl AR — 12x2 =24
() Y FTAGIR [l 9 Jaeiig :— 6x2 =12

(i) it g |

(i) derar fauzies |

(iii) DTl foregT daaeafRfes forga |
(iv) FAT: FHITIE |
(b) SERTY WA USRhgd RAIH — 6x2 =12
(i) IS AT YRTHIG: |
(ii) SATRIRY HROT HRUM |
(iii) TF TeEracl gordT |
(iv) SITTEIBROTHTHT |
(c) JFAARIAY A SATTANTHUVT BRIH — 6x2 =12
(i) TTH WUBH g |
(i) =Sl e Hrdwnq |
(iii) P¥e G T=TCEd |
(iv) 3F wmr T |
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3. SNy Al TPl ol — 5x2=10
(i) 7: |
(ii) @ |
(iii) faere: |
(iv) ST |

UNIT-11
(Full Marks-40)

4. Answer any one of the following: 12x1 =12

(a) Give a critical exposition of the Jaina doctrine of Syadavada. What effect does
this doctrine have on Jaina philosophy?

(b) Discuss the Sankhya theory of purusa and prakrti.

(c) Elucidate the essence of Brahman according to Advaita vedanta philosophy.

5. Write short notes on any two of the following: 6x2 =12
(a) STETRAGE |
(b) IrCTFHAN: |
(c) 31Yd: |
(d) R |

6. Answer any eight of the following questions: 2x8 =16
(a) Who was the founder of 92 Philosophy?

(b) Who wrote =ITIHSRI?

(c) To which system of philosophy does HA®RIATE belong?

(d) What are 3Rs in Jaina philosophy?

(¢) Who was the author of I TaTRi®H?

(f) Who is the founder of faf¥rergaare? What is the name of his book?
(g) Name the four schools of Buddhist philosophy.

(h) Name the two schools of Mimamsa philosophy.

(i) Yada=Iars is accepted by .

(J) What are the four 3T&€ls of daT=<?
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